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$$h_{1,u}=\text{sz} u+\sum_{win \text{son}(u)}\text{sz} vh {1,v}$$
$$h_{2,u}=\text{sz} u+\text{sz} u\sum_{wv\in \text{son}(u)}\text{sz} vh {2,v}$$
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const int MAXN=55,Mod=1e9+7;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge| ++edge cnt|=Edge{v,head/u]};
head|u|=edge cnt;

int sz2[MAXN!,mson[MAXN|,tot sz,root sz;
void find root(int u,int fa
sz2/u/=1;mson|u/=0;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
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v==Ffa
’
find root(v,u);
sz2|ul+=sz2[v];
mson|ul=max(mson|ul,sz2[v]);

mson|u/=max(mson/ul,tot sz-sz2[ul);
mson|u!/<root sz
root sz=mson|uj;

int sz[MAXN],h1[MAXN!,h2 [ MAXN];
void Hash(int u,int fa
szlul=1,hllul=h2[ul=0;
int i=head|u];i;i=edge!i].next
int v=edgeli]l.to;
==fa ;
Hash(v,u);
szlul+=sz(v];

hllul=(hllul+1LL*h1l[v]*sz[v])%Mod;
h2[ul=(h2/ul+1LL*h2[v]*sz|v])%Mod;
hllul=(hl[ul+sz/ul)%Mod;

h2[u 1LL*h2|ul*sz[ul+sz|u])%Mod;

vector<pair<int,int> >root [MAXN];
bool cmp(int a,int b

root|al.size()!=root|/b].size
false;
root[al.size()==
rootla ==root/b
true;
root|a ==root|b &&root|a ==root[b
true;
rootla ==root/b &&root|a ==root|b
true;
false;
int main

int T=read int(),n,p;
_rep(k,1,T

n=read int(),edge cnt=0;

_rep(i,1,n)head[i]|=0;

_rep(i,1l,n

p=read int();
p
Insert(p,i);
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Insert(i,p);

tot sz=root sz=n;
find root(1,0);

_rep(i,1,n
mson|1i/==root sz
Hash(i,0);

root|k!.push back(make pair(hl[i|,h2[1i ;

_rep(i, 1,k
cmp(i,k
enter(i);
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